
 

Christmaths with  

the Mr Men 

Mr Clever’s  

Ken Ken 

 

Mr Lazy’s  

incomplete equation 
Mr Tickle’s rib tickler 
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6×   

Mr Mean wasn’t your average kind of guy. One Christmas he sat 

making a note of the number of Christmas cards he had sent each year 

(all to himself) over the course of the last 5 years. The mode of these 5 

numbers is 1, the median 2 and the range 3. 

What is the mean of  

the 5 numbers? 

               Farmer: There are 37 sheep in that field. 

Sheepdog: No, there are 40 sheep in that field. 

Farmer: There’s definitely 37. 

Sheepdog: I just rounded them up. 
90 = D in a RA 

Mr Wrong was hoping to use 

less wrapping paper this year. He  

had some presents to wrap in the  

shape of cubes and had cut his  

wrapping paper to size. Which  

piece was not a net of a cube? 

A) 

B) 

C) 

Mr Wrong’s  

deliberate mistake 

1 

http://www.youtube.com/watch?v=TAWI3wIoX4Y

